
Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the lecture notes (twice).
- Looking at them as little as possible, answer the questions.

The answers of the questions of week 6 should be handed to me at the beginning of Monday’s lecture of 19th of March. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write WEEK 5 in bold at the beginning of your answers.
Note: in Aquila, you’ve got a paper with some sections that explain the ideas of L6, L7, L8 and L9. See pp. 3-11 and p. 15 of the paper; skip the points that are not exactly as in the lecture (for example the formula of the Keynesian multiplier). 
WEEK 5
L8: the PK dynamic model
Note: the following two graphs give the basic facts that underlie the PK’s explanation of the cycle (based on the interaction between changes in utilization and in business investment).
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Net investment over U.S. cycles, 1947-2017
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1. Why may the value of the multiplier be around 1.5?

2. How much time does it take for the bulk of the multiplier effect to take place?

3. Which are the two different effects that investment has on the economy? Explain.

4. What happens to I when u rises above u*? Explain.

5. What happens to I when u falls below u*? Explain.

6. When u rises above u* and many businesses respond by raising investment above the replacement level, u may either fall back towards u* or rise even further above u*. 

a) Under which condition will the first case come about? Explain.

b) Under which condition will the second case come about? Explain.
7. Which of the two previous cases happens in the early stages of an economic expansion? Explain.

8. If at the middle of an expansion u eventually rises above u*, a mechanism is set in motion leading to increases in AD period after period.  Explain that mechanism. Illustrate in a graph.
L9: The PK dynamic model (continuation)
9. a) As net I rises year after year over an expansion, what happens to the impact of  subsequent increases in I on capacity compared with the impact on AD? Explain using a numerical example.

b) What’s the implication of that fact on the evolution of (u – u*), business I, AD and output? Explain.

10. Look again at the graph about the evolution of capacity utilization over  the US trade cycles.

a) What tends to happen to u a few quarters before the onset of recessions?

b) How does that behavior of u may be responsible for the subsequent upper-turning point?

11. In recessions, u falls for two reasons. Which reasons?

12. How is the cash-flow of a business calculated? And profits?
13.”When AD falls, businesses’ cash flows fall in roughly the same proportion.” Do you agree? Explain.
14.”When AD falls, businesses’ cash flows fall by more in percentage terms than their profits.” Do you agree? Explain.
15. Why do many businesses fail during recessions?

16. Present the mechanism that explains the successive decreases in AD over the course of recessions.
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17. a) In which way may the evolution of the prices of imported raw materials contribute to the end of expansions?

b) If all raw materials were domestically produced, could the same argument be made? Explain.
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